x ox O

nm

—_

©
2
3
of:

gt 7| A7 H(X|06-17)

SHETAA (§27|7F 2024H 063 092 06A| ~ 06& 10 06A|)

[ 20244 06E 09 O6A| 2 ]

O3 045

- 95 52|t 7k &S
> 271y
O (23) & O6A]), o=

Y2 3|1 E530| k2 =20 AZE2 10kmO|HLICE 52 &= &5t0| F20f fIX[eh n7|&e
7FEAE| o SAELICE SE|oE 7S FERAS UL
O (Ug) 5= 4510| £Z0M HF=HZN S22 0|s5h= 27|e| 7HAE|of| SZELICE M2 SRS LT
Ofl ek 2 X/x| 7|2 () Ol e FZ M2 =(C) Ol e Z==2mm)
(R=)-/28 (Lf)18/31 (2=)28, (Lfe)31 -
> 2 7| H0E
O HAI:I
AlZtE ZHiE o =2
ECTTON askruje | | 20kTops | 2skToly | 3okTomy | EEEHS Y GooD | MEDIUM [ POOR
/4 0o
06 o7 08 09 10 11 12 13 14 15 16 17
o N N N N N N
=535 S
m A AN A A & A
(17'is)n £=25 ==:5 ==5 =5 =5 zz5 =z =z E=:3 =) == =1}
k=t H, 310 W20 H E0 0 30 KR H WE6 56 EEA W26 H W26 36
(8% 28170 2370 2370 EE0 28170 270 Z3160 Za160 23160 23160 E8160 235160
I(kt) 355 255 25 55 355 255 26 26 356 256 226 356
09 109
18 19 20 21 22 23 00 oL 02 03 04 05
o N N
s > > D> D> > > D> D> > D>
7:35) e =z =5 =z 2z =5 =z:5 =x5 =xz:5 =z:5 =z5 =x5
A , HE6 , 06 3,882 o HE2 2 02 ,8E2 o HE2 ,E2 02 ,8E2 X =)
BB()ES =160 ET160 =270 E@70 ET70 ETT0 =270 E@270 23270 ETT0 =270 23270
.'(aL(lgr EEXS B¢ 245 E&5 B4 Ba5 B25 E&5 B4 R 225 EER
X E5Z/EHE2 SEE F 20| Cieh HiEHS 205, tHel= k) (O '53: 4= £30| 4kt S 2|0))
dEg

oz

o kI
>

o

S| W ZEO TS ApMeh Are 2 5714 S 0fX|@mokmagoknOf Al 2Hlgt = UFLICE
7| 2o HEAL Hepti= S FAXH2 I HEE[RIS
BLC

= Of| 2.1} (TEL 032-740-2855 / FAX 032-740-2817) 2 Y2{FA|7|




